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Section : General Intelligence

Q.1 In a certain code language, ‘YNCH’ is written as ‘3596°, ‘HMDA'’ is written as ‘4875’,
‘ACDP’ is written as ‘“1984’. What is the code for ‘M’ in that code language?

Ans o 1.7
5 2.8
< 3.6
X 4.5

Question ID : 630680372648
Option 1 ID : 6306801451880
Option 2 ID : 6306801451881
Option 3 ID : 6306801451882
Option 4 ID : 6306801451879
Status : Answered
Chosen Option : 1

Q.2 By Interchanging which two signs the equation will be correct?
16x4-6+2+9=1

Ans X 1.+and-
" 2. xand +
X 3.—and x
X 4. +and—

Question ID : 630680372660
Option 1 ID : 6306801451930
Option 2 ID : 6306801451927
Option 3 ID : 6306801451929
Option 4 ID : 6306801451928
Status : Answered
Chosen Option : 2
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Q.3 Aseries is given with one term missing. Select the correct alternative from the given
ones that will complete the series.
ZAP, DGX, HMF, LSN, ?

Ans X 1.PVX

o 2. PYV
X 3.RPM
X 4. PAV

Question ID : 630680372644
Option 1 ID : 6306801451865
Option 2 ID : 6306801451864
Option 3 ID : 6306801451863
Option 4 ID : 6306801451866
Status : Answered
Chosen Option : 2

Q.4 Select the option that is related to the fifth number cluster in the same way as the
second number cluster is related to the first number cluster and fourth number cluster
is related to third number cluster.
11:9:3:5::17:7

Ans X 1.22

o 2. 12
X 3.14
X 4.19

Question ID : 630680372662
Option 1 ID : 6306801451936
Option 2 ID : 6306801451937
Option 3 ID : 6306801451935
Option 4 ID : 6306801451938
Status : Answered
Chosen Option : 4

Q.5 In a certain code language, ‘QRAF’ is written as ‘2651°, ‘TODA’ is written as ‘6743’,
‘FAOPB’ is written as ‘8361°. What is the code for ‘T’ in that code language?

Ans X 1.6
< 2.3
X 3.8
4.7

Question ID : 630680372647
Option 1 ID : 6306801451877
Option 2 ID : 6306801451876
Option 3 ID : 6306801451875
Option 4 ID : 6306801451878
Status : Answered
Chosen Option : 4
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Q.6 In the following question, select the odd letter/letters from the given alternatives.

Ans o 1. KPS
X 2. XBF
< 3.INR
& 4.PTX
Question ID : 630680372651
Option 1 ID : 6306801451893
Option 2 ID : 6306801451892
Option 3 ID : 6306801451891
Option 4 ID : 6306801451894
Status : Answered
Chosen Option : 1
Q.7 What is the approximate value of 16.012 + 3.998 + 19.97 x 2.1?
Ans X 1.97
& 2.268
o 3.44
X 4.138
Question ID : 630680372658
Option 1 ID : 6306801451920
Option 2 ID : 6306801451922
Option 3 ID : 6306801451919
Option 4 ID : 6306801451921
Status : Answered
Chosen Option : 3
Q.8 In the following question, select the missing number from the given series.
1, 6, 24, 81, 255, ?
Ans X 1.803
" 2.780
< 3.813
K 4.795
Question ID : 630680372657
Option 1 ID : 6306801451917
Option 2 ID : 6306801451915
Option 3 ID : 6306801451918
Option 4 ID : 6306801451916
Status : Answered
Chosen Option : 2
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Q.9 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:

I.AllV are G.
Il.NoBis V.
Conclusion:
I.No Vis B.

Il. All G are V.
Ill. All G are B.

Ans  # 1. Only conclusion | follows

< 2. Neither conclusion follows
25 3. Only conclusion Il follows

< 4. Both conclusions | and Il follows

Question ID : 630680372655
Option 1 ID : 6306801451910
Option 2 ID : 6306801451908
Option 3 ID : 6306801451907
Option 4 ID : 6306801451909
Status : Answered
Chosen Option : 1

Q.10 What is the approximate value of (197.89 + 3.992) x (1456.201 + 15.97)?
Ans X 1.3992

o 2. 4527
X 3.4103
X 4.4277

Question ID : 630680372659
Option 1 ID : 6306801451925
Option 2 ID : 6306801451926
Option 3 ID : 6306801451923
Option 4 ID : 6306801451924
Status : Answered
Chosen Option : 2

Q.11 Five plays T1, T2, T3, T4 and T5 are to be staged from Monday to Friday of a week. On
each day, only one play will be staged. T4 and T5 should not be the first or last to be
staged. T5 should be staged immediately before T3. T2 should be staged immediately
after T4. One play is staged between T1 and T2. Which play is staged just before T4?

Ans X 1.T2
o 2. T1
X 3.T3
X 4.75

Question ID : 630680372641
Option 1 ID : 6306801451851
Option 2 ID : 6306801451854
Option 3 ID : 6306801451853
Option 4 ID : 6306801451852
Status : Answered
Chosen Option : 2
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Q.12 6 boxes A, B, C, D, E and F are kept one above the other. No box is kept above B.
There boxes are kept between A and F. E is kept just above F. D is kept just above C.
How many boxes are kept above C?

Ans 1.3
K 2.4
X 3.2
< 4.0

Question ID : 630680372640
Option 1 ID : 6306801451847
Option 2 ID : 6306801451850
Option 3 ID : 6306801451849
Option 4 ID : 6306801451848
Status : Answered
Chosen Option : 1

Q.13 By Interchanging which two signs the equation will be correct?
18+6-6+3%x3=6

Ans o 1. +and+
&K 2. +and x
X 3.—and+
X 4. +and -

Question ID : 630680372661
Option 1 ID : 6306801451932
Option 2 ID : 6306801451933
Option 3 ID : 6306801451931
Option 4 ID : 6306801451934
Status : Answered
Chosen Option : 1

Q.14 Consider the five three letter words given below and the answer the questions based
onit.
(Left) NDA ZOX WTS ZWC DQW (Right)
How many words have only two consonant letters?

Ans X 1.0
2.2
< 3.1
X 4.3

Question ID : 630680372646
Option 1 ID : 6306801451871
Option 2 ID : 6306801451873
Option 3 ID : 6306801451872
Option 4 ID : 6306801451874
Status : Answered
Chosen Option : 2
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Q.15 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.
PQRS, PHZI, PYHY, PPPO, ?

Ans o 1. PGXE

X 2.PGEV
X 3.PMRQ
X 4.PHRQ

Question ID : 630680372645
Option 1 ID : 6306801451868
Option 2 ID : 6306801451870
Option 3 ID : 6306801451867
Option 4 ID : 6306801451869
Status : Answered
Chosen Option : 1

Q.16 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:

. Some M are F.
Il. All G are F.
Conclusion:

I. No G is M.

Il. No F is M.

lll. Some F are G.

Ans X 1.Only conclusion Il follows
#< 2. Both conclusions | and Il follows
4 3. Only conclusion Ill follows

< 4. Both conclusions | and Il follows

Question ID : 630680372643
Option 1 ID : 6306801451859
Option 2 ID : 6306801451862
Option 3 ID : 6306801451860
Option 4 ID : 6306801451861
Status : Answered
Chosen Option : 3

Q.17 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:

I. All cat are lion.

Il. No peacock is cat.
Conclusion:

I. All lion are cat.

Il. All peacock are lion.
lll. All cat are peacock.

Ans X 1.0nly conclusion | follows
/< 2. Both conclusions Il and IlI follows
< 3. All conclusion follows

" 4. Neither conclusion follows

Question ID : 630680372654
Option 1 ID : 6306801451903
Option 2 ID : 6306801451905
Option 3 ID : 6306801451906
Option 4 ID : 6306801451904
Status : Answered
Chosen Option : 4
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Q.18 In the following question, select the missing number from the given series.
30, 32, 40, 72, 200, ?

Ans X 1.730
o 2.712
5 3.720
X 4.744
Question ID : 630680372656
Option 1 ID : 6306801451912
Option 2 ID : 6306801451911
Option 3 ID : 6306801451913
Option 4 ID : 6306801451914
Status : Answered
Chosen Option : 2
Q.19 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:
l.AIlP are J.
Il. NoEis J.
Conclusion:
|. Some E are not J.
Il. Some J are P.
Ans X 1.0Only conclusion Il follows
#< 2. Neither conclusion follows
&5 3. Only conclusion | follows
«" 4. Both conclusions | and Il follows
Question ID : 630680372642
Option 1 ID : 6306801451856
Option 2 ID : 6306801451858
Option 3 ID : 6306801451855
Option 4 ID : 6306801451857
Status : Answered
Chosen Option : 1
Q.20 In the following question, select the related letters from the given alternatives.
YV:AY:SR:?
Ans X 1.AP
& 2. LN
" 3. UU
& 4.BX
Question ID : 630680372649
Option 1 ID : 6306801451884
Option 2 ID : 6306801451883
Option 3 ID : 6306801451885
Option 4 ID : 6306801451886
Status : Answered
Chosen Option : 3
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Q.21 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:
|. Some carom are ludo.
Il. All red are carom.
Conclusion:
I. Some red are not ludo.
Il. Some carom are not red.
lll. Some red are not carom.
Ans X 1.All conclusion follows
< 2. Both conclusions | and Il follows
4 3. Neither conclusion follows
< 4. Both conclusions Il and IlI follows
Question ID : 630680372653
Option 1 ID : 6306801451902
Option 2 ID : 6306801451901
Option 3 ID : 6306801451899
Option 4 ID : 6306801451900
Status : Answered
Chosen Option : 3
Q.22 In the following question, select the related letter pair from the given alternatives.
DCP:BAN: ?
Ans X 1.NXU:ULL
& 2.HBP: PUQ
5 3. PXH : ABH
o 4. TUZ : RSX
Question ID : 630680372650
Option 1 ID : 6306801451888
Option 2 ID : 6306801451890
Option 3 ID : 6306801451889
Option 4 ID : 6306801451887
Status : Answered
Chosen Option : 4
Q.23 Seven persons A, B, C, D, E, F and G are sitting around a circular table facing opposite
to the centre (not necessarily in the same order). B is second to the left of E. F is the
immediate neighbour of both B and G. A is the immediate neighbour of both E and D.
Who is second to the right of D?
Ans X 1.E
o 2.F
& 3.A
X 4.B
Question ID : 630680372638
Option 1 ID : 6306801451841
Option 2 ID : 6306801451842
Option 3 ID : 6306801451840
Option 4 ID : 6306801451839
Status : Answered
Chosen Option : 2
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Q.24 In the following question, four letter pairs are given. The letters on left side of (-) is
related to the letters on the right side of (—) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.
Ans X 1.JY-YJ
K 2.TI-1IT
" 3.UG-GT
X 4.DS-SD
Question ID : 630680372652
Option 1 ID : 6306801451895
Option 2 ID : 6306801451897
Option 3 ID : 6306801451896
Option 4 ID : 6306801451898
Status : Answered
Chosen Option : 3
Q.25 Six girls A, P, R, X, Y and W are sitting in a row facing towards the north (not
necessarily in the same order). A and P are at the ends. R is to the immediate left of A.
Only X is between Y and W. Y is third to the right of P.
Which of the following statement(s) is/are correct?
I. Y is second to the left of A.
Il. W is to the immediate right of X.
Ans o 1.0nly |
< 2.0nly I
X 3.Both land Il
& 4. Neither | nor Il
Question ID : 630680372639
Option 1 ID : 6306801451843
Option 2 ID : 6306801451844
Option 3 ID : 6306801451845
Option 4 ID : 6306801451846
Status : Answered
Chosen Option : 1
Section : General Awareness
Q.1 Which among the following statements is correct regarding Telugu language?
I. It is locally known as Meiteilon.
Il. It was accorded the classical language status in 2008.
Ans 4 1.0nly I
X 2.0nly |
25 3. Neither I nor I
& 4.Both land Il
Question ID : 630680372629
Option 1 ID : 6306801451804
Option 2 ID : 6306801451803
Option 3 ID : 6306801451806
Option 4 ID : 6306801451805
Status : Not Answered
Chosen Option : --
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Ans

Q.2 Who is the author of the novel 'Sea of Poppies'?

& 1. Jeet Thayil

25 2. Aravind Adiga
«# 3. Amitav Ghosh
/X 4. Shashi Tharoor

Chosen Option :

Question ID : 630680372627
Option 1 ID : 6306801451797
Option 2 ID : 6306801451795
Option 3 ID : 6306801451796
Option 4 ID : 6306801451798
Status : Answered
Chosen Option : 3
Q.3 The average elevation of the eastern ghat is
Ans X 1.300 metres
< 2.1200 metres
75 3.900 metres
o 4. 600 metres
Question ID : 630680372632
Option 1 ID : 6306801451815
Option 2 ID : 6306801451818
Option 3 ID : 6306801451817
Option 4 ID : 6306801451816
Status : Not Answered
Chosen Option : --
Q.4 Which of the following statement is correct?
I. Areas of heavy rainfall have more dense vegetation as compared to other areas of
less rainfall.
Il. The eastern slopes of the Western Ghats are covered with thick forests but not the
western slopes.
Ans X 1.0nlyll
#< 2.Both land Il
" 3.Only |
< 4. Neither | nor Il
Question ID : 630680372634
Option 1 ID : 6306801451824
Option 2 ID : 6306801451825
Option 3 ID : 6306801451823
Option 4 ID : 6306801451826
Status : Not Answered
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Q.5 After the defeat at Plassey, Sirajuddaulah was assassinated and made the
nawab.

Ans X 1. SaadatAli Khan
& 2. Shujauddaulah
" 3. Mir Jafar
X 4. Mir Qasim

Question ID : 630680372621
Option 1 ID : 6306801451771
Option 2 ID : 6306801451772
Option 3 ID : 6306801451773
Option 4 ID : 6306801451774
Status : Answered
Chosen Option : 3

Q.6 Who among the following gave up his traditional professions and took to arms,
successfully established kingdom in Rajasthan?

Ans X 1. Maharaja Gangadhar Rao
X 2. Kadamba Mayurasharman
" 3. Gurjara-Pratihara Harichandra
5 4. Maharaja Dahir

Question ID : 630680372623

Option 1 ID : 6306801451782
Option 2 ID : 6306801451781
Option 3 ID : 6306801451779
Option 4 ID : 6306801451780

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 Which of the following pairs of ‘Ruler — Ruling period’ is correctly matched regarding
Delhi?

I. Khizr Khan — 1434-1451
Il. Bahlul Lodi — 1451-1489

Ans X 1.0nlyl
 2.0nly i
< 3. Neither | nor Il
< 4.Both land Il

Question ID : 630680372625

Option 1 ID : 6306801451787
Option 2 ID : 6306801451788
Option 3 ID : 6306801451790
Option 4 ID : 6306801451789

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.8 Which of the following pairs of ‘organization — founder’ is correctly matched?
I. Self Respect Movement — Narayana Guru
Il. Arya Samaj — Raja Rammohun Roy

Ans X 1.0Onlyll

& 2.Both land Il
X 3.0nly|
«” 4. Neither | nor Il

Question ID : 630680372622
Option 1 ID : 6306801451776
Option 2 ID : 6306801451777
Option 3 ID : 6306801451775
Option 4 ID : 6306801451778
Status : Answered
Chosen Option : 4

Q.9 Who among the following was conferred with the Dronacharya Award 2022 in Lifetime
Category?

Ans o 1. Bimal Prafulla Ghosh
25 2. Sujeet Maan
& 3. Jiwanjot Singh Teja
& 4. Suma Siddharth Shirur

Question ID : 630680372614
Option 1 ID : 6306801451744
Option 2 ID : 6306801451743
Option 3 ID : 6306801451746
Option 4 ID : 6306801451745
Status : Not Answered
Chosen Option : --

Q.10 Which among the following teams won the highest number of medals in the National
Games 20227

Ans X 1.Kerala
X 2. Gujarat
" 3. Maharashtra
& 4. Haryana

Question ID : 630680372613
Option 1 ID : 6306801451742
Option 2 ID : 6306801451739
Option 3 ID : 6306801451740
Option 4 ID : 6306801451741
Status : Not Answered
Chosen Option : --
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Q.11 The battle of Panipat, 1526 was fought between which of the following rulers?

75 1. Babur and Sikandar Lodi
#< 2. Humayun and Sher Khan
< 3. Akbar and Hemu

«# 4. Babur and Ibrahim Lodi

Chosen Option :

Question ID : 630680372624
Option 1 ID : 6306801451783
Option 2 ID : 6306801451786
Option 3 ID : 6306801451784
Option 4 ID : 6306801451785
Status : Answered
Chosen Option : 4
Q.12 As per Census 2011, the Buddhist Religious community constituted percent
of the total population of India.
Ans X 1.17
X 2.04
X 3.23
o 4.07
Question ID : 630680372635
Option 1 ID : 6306801451829
Option 2 ID : 6306801451827
Option 3 ID : 6306801451830
Option 4 ID : 6306801451828
Status : Not Answered
Chosen Option : --
Q.13 Deen Dayal SPARSH Yojana was launched by which Ministry of Government of India?
Ans X 1. Ministry of Education
& 2. Ministry of Health and Family Welfare
< 3. Ministry of Social Justice and Empowerment
" 4. Ministry of Communications
Question ID : 630680372616
Option 1 ID : 6306801451751
Option 2 ID : 6306801451752
Option 3 ID : 6306801451754
Option 4 ID : 6306801451753
Status : Answered
Chosen Option : 2
Q.14 Absorption of water by plant roots is an example of
Ans X 1. transpiration
X 2. guttation
" 3. osmosis
< 4. diffusion
Question ID : 630680372637
Option 1 ID : 6306801451838
Option 2 ID : 6306801451837
Option 3 ID : 6306801451835
Option 4 ID : 6306801451836
Status : Answered

1
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Q.15 The average product curves are
Ans o 1. Inverse U-shaped

& 2. L-shaped
& 3. U-shaped
& 4. V-shaped

Question ID : 630680372619
Option 1 ID : 6306801451764
Option 2 ID : 6306801451765
Option 3 ID : 6306801451766
Option 4 ID : 6306801451763
Status : Not Answered
Chosen Option : --

Q.16 Who of the following is the author of the book 'Kumarasambhava'?
Ans " 1. Kalidasa

X 2. Kalhana
75 3. Bhavabhuti
/< 4. Banabhatta

Question ID : 630680372626
Option 1 ID : 6306801451792
Option 2 ID : 6306801451793
Option 3 ID : 6306801451791
Option 4 ID : 6306801451794
Status : Answered
Chosen Option : 1

Q.17 As per the National Health Accounts Estimates for India (2019-20), the share of
Government Health Expenditure (GHE) in the overall GDP of the country is in
2019-20.

Ans X 1.2.35 percent
& 2. 4.35 percent
25 3.3.35 percent
o 4. 1.35 percent

Question ID : 630680372617
Option 1 ID : 6306801451756
Option 2 ID : 6306801451758
Option 3 ID : 6306801451757
Option 4 ID : 6306801451755
Status : Not Answered
Chosen Option : --

Q.18 Which of the following biosphere reserve is extended in three states of India?
Ans o 1. Nilgiris

X 2. Gulf of mannar
< 3. Nanda Devi
/X 4. Sundarbans

Question ID : 630680372633
Option 1 ID : 6306801451821
Option 2 ID : 6306801451822
Option 3 ID : 6306801451820
Option 4 ID : 6306801451819
Status : Not Answered
Chosen Option : --
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Q.19 The Vernacular Press Act was passed in India in

Chosen Option :

Ans X 1.1882
o 2.1878
/< 3.1888
K 4.1872
Question ID : 630680372620
Option 1 ID : 6306801451769
Option 2 ID : 6306801451768
Option 3 ID : 6306801451770
Option 4 ID : 6306801451767
Status : Answered
Chosen Option : 2
Q.20 In May 2023, which of the following institutes developed a catalyst that can release
hydrogen gas from wood alcohol, with no side production of carbon dioxide?
Ans o 1.1IT Guwahati
& 2. IT Madras
25 3. IIT Hyderabad
& 4. 1IT Kanpur
Question ID : 630680372615
Option 1 ID : 6306801451750
Option 2 ID : 6306801451747
Option 3 ID : 6306801451748
Option 4 ID : 6306801451749
Status : Not Answered
Chosen Option : ==
Q.21 Recurring deposits are those where a monthly instalment is deposited in the accounts
Ans X 1.every day
«” 2. every month
< 3. every week
X 4. every year
Question ID : 630680372618
Option 1 ID : 6306801451759
Option 2 ID : 6306801451762
Option 3 ID : 6306801451760
Option 4 ID : 6306801451761
Status : Answered
Chosen Option : 2
Q.22 Bhotia language belongs to which of the following language families?
Ans X 1. Dravidian
< 2. Austro-Asiatic
< 3. Indo-Aryan
o 4. Tibeto-Burmese
Question ID : 630680372628
Option 1 ID : 6306801451800
Option 2 ID : 6306801451801
Option 3 ID : 6306801451799
Option 4 ID : 6306801451802
Status : Not Answered



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.23 Phulaich festival is celebrated in which of the following states of India?
Ans X 1.Andhra Pradesh

< 2. Uttar Pradesh
< 3. Arunachal Pradesh

" 4. Himachal Pradesh

Question ID

Option 11D :

Option 2 ID

Option 3D :

Option 4 ID

: 630680372630

6306801451807
: 6306801451808
6306801451809

: 6306801451810
Status :
Chosen Option :

Not Answered

70 percent?
I. Madhya Pradesh
Il. Himachal Pradesh

Ans X 1. Neither I nor Il

Q.24 As per Census 2011, which among the following states has female literacy rate above

o 2.0nly Il
< 3.0nly |
& 4.Bothland I
Question ID : 630680372636
Option 1 ID : 6306801451834
Option 2 ID : 6306801451832
Option 3 ID : 6306801451831
Option 4 ID : 6306801451833
Status : Not Answered
Chosen Option : --
Q.25 Which of the following folk dances is performed during the Navratri festival in Gujarat?
l. Garba
Il. Dandia
Ans X 1.0nly|
X 2.0nly I
25 3. Neither I nor Il
" 4. Both land Il
Question ID : 630680372631
Option 11D : 6306801451811
Option 2 ID : 6306801451812
Option 3 ID : 6306801451814
Option 4 ID : 6306801451813
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude (Basic Arithmetic Skill)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Q.1 In what ratio water be mixed with milk to gain 25% by selling the mixture at cost price?
Ans 1 4]

X2 2:1

X3 1:2

4 1:4

Question ID : 630680372666

Option 11D : 6306801451951
Option 2 ID : 6306801451953
Option 3 ID : 6306801451954
Option 4 ID : 6306801451952

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.2  Aretailer buys a battery at a discount of 1520 and sells it for Rs 1955, Thus, he makes a profit of 15%. what is the
discount?

Ans X 1.Rs. 450
2 2.Rs. 290
o 3.Rs. 300
& 4.Rs. 720

Question ID : 630680372669
Option 1 ID : 6306801451966
Option 2 ID : 6306801451965
Option 3 ID : 6306801451964
Option 4 ID : 6306801451963
Status : Answered
Chosen Option : 3

Q.3  Atakes thrice as much time as B ot twice as nmwich time as C to finish a piece of work. Working together. they can finish
the work in 5 days. C can do the work alone in how many days?

Ans 1. 15 days
X 2. 16 days
X 3. 10 days
X 4. 12 days

Question ID : 630680372675
Option 1 ID : 6306801451989
Option 2 ID : 6306801451990
Option 3 ID : 6306801451988
Option 4 ID : 6306801451987
Status : Answered
Chosen Option : 1
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Q.4 After spending 40% on machinery, 25% on building, 15% on raw material and 5% on
furniture, Manilal was left with Rs.52200. How much money did Manilal have in all?

Ans X 1.Rs 234560
#< 2. Rs 253900
4" 3. Rs 348000
75 4. Rs 404000

Question ID : 630680372667
Option 1 ID : 6306801451957
Option 2 ID : 6306801451958
Option 3 ID : 6306801451955
Option 4 ID : 6306801451956
Status : Answered
Chosen Option : 3

Q.5 The ratio of incomes of X and Y is 5 : 3 and that of their expenditures is 9 : 5. If they save 22600 and 2 1800
respectively, then what are their incomes?

Ans > 1. F10000. ¥6000
X 2. 29000, 5400
« 3. % 8000, T 4300
X 4. % 6000, ¥ 3600

Question ID : 630680372672
Option 1 ID : 6306801451978
Option 2 ID : 6306801451975
Option 3 ID : 6306801451977
Option 4 ID : 6306801451976
Status : Answered
Chosen Option : 3

Q.6

What is the value of 31367
Ans  X'1. 54

X2 66

X3 74

4 56

Question ID : 630680372663
Option 1 ID : 6306801451940
Option 2 ID : 6306801451941
Option 3 ID : 6306801451942
Option 4 ID : 6306801451939
Status : Answered
Chosen Option : 4
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Q.7 Sitacando a piece of work in 30 days. Sunita is 20% wore efficient than Sita. The number of days taken by Sunita to do

the same piece of work is;

Ans

« 1. 25 days
X 2. 20 days
X 3. 35 days
X 4. 30 days
Question ID : 630680372674
Option 1 ID : 6306801451984
Option 2 ID : 6306801451983
Option 3 ID : 6306801451986
Option 4 ID : 6306801451985
Status : Answered
Chosen Option : 1
Q.8 Simple interest on a certain sum of money for 2 years at 10% per annum is half the compound interest on 2000 for 2
vears at 8% per annum. The sum placed on simple interest is:
Ans X 1. 3840
¥ 2 3832
X 3. 3820
X 4. 3800
Question ID : 630680372673
Option 1 ID : 6306801451981
Option 2 ID : 6306801451980
Option 3 ID : 6306801451979
Option 4 ID : 6306801451982
Status : Answered
Chosen Option : 2
@9 The value of ‘@’ for which (2,a) liesonx + 3y = 8
Ans X 1. i
V22
X3 3
x4 4
Question ID : 630680372679
Option 1 ID : 6306801452003
Option 2 ID : 6306801452004
Option 3 ID : 6306801452005
Option 4 ID : 6306801452006
Status : Answered
Chosen Option : 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Q.10 The perimeter and length of a rectangle are 48m and 12 m respectively. Its breadth will be what?
Ans X 1.15m

o 2.12m
X 3.14m
X 4.13m

Question ID : 630680372683
Option 1 ID : 6306801452020
Option 2 ID : 6306801452019
Option 3 ID : 6306801452022
Option 4 ID : 6306801452021
Status : Answered
Chosen Option : 2

QM If5x— 3y=9,—4x+ 2y = 3 then, x — y equals:
Ans 1 17

X211

X3 13

X4 10

Question ID : 630680372678
Option 1 ID : 6306801451999
Option 2 ID : 6306801452001
Option 3 ID : 6306801452000
Option 4 ID : 6306801452002
Status : Answered

Chosen Option : 1

Q.12 Inanexamination. 34% of the studetrs failed in hindi and 42% failed in English. If 20% of the students failed in both
the subjeets, then the percentage of students who passed in both the subjects was :

Ans 71 44
X2 40
X3 52
X 4. 33

Question ID : 630680372668
Option 1 ID : 6306801451961
Option 2 ID : 6306801451962
Option 3 ID : 6306801451960
Option 4 ID : 6306801451959
Status : Answered
Chosen Option : 1
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Ans

Q13 yWhat is the maximum value of sin@ + cos@.

¢1.1fj

_ 1
>
2
X3 2
X4 1
Question ID : 630680372687
Option 1 ID : 6306801452036
Option 2 ID : 6306801452038
Option 3 ID : 6306801452035
Option 4 ID : 6306801452037
Status : Answered
Chosen Option : 1
Q.14 The ratio of the radii of two wheels is 2 : 5 the ratio of their circumference is what?
Ans X 1. 4:25
X2 K517
X3 g8:125
w4 215
Question ID : 630680372681
Option 1 ID : 6306801452011
Option 2 ID : 6306801452013
Option 3 ID : 6306801452014
Option 4 ID : 6306801452012
Status : Answered
Chosen Option : 4
Q.15 A trader lists his bike 20% above cost price and allows a discount of 10% on cash payment, what s his gain percent?
Ans X 1. 50
« 2. 8%
X 3. 10%
X 4. (o
Question ID : 630680372670
Option 1 ID : 6306801451967
Option 2 ID : 6306801451969
Option 3 ID : 6306801451970
Option 4 ID : 6306801451968
Status : Answered
Chosen Option : 2
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Q.16 What is the difference between the average of first 160 even positive sumbers and the average of first 130 odd positive
mumnbers?

Ans X 1. |9
X2 30
X3 2]
4 31

Question ID : 630680372665
Option 1 ID : 6306801451949
Option 2 ID : 6306801451950
Option 3 ID : 6306801451947
Option 4 ID : 6306801451948
Status : Marked For Review
Chosen Option : 4

Q.17 If diagonals of a thombus are 5 cm and 12 cm., then perimeter of that thombus is what?
Ans X 1. 24

2 26

X3 12

X413

Question ID : 630680372682
Option 1 ID : 6306801452016
Option 2 ID : 6306801452017
Option 3 ID : 6306801452018
Option 4 ID : 6306801452015
Status : Answered
Chosen Option : 2

Q.18 The incomes of M and N are in the ratio 3 : 2 and their expenditures ave In the ratio 5 : 3. If each saves 7 1000, then
what is M ‘s income?

Ans  X'1..3 12000
X 2. 2 9000
X 3.2 3000
4. T 6000

Question ID : 630680372671
Option 1 ID : 6306801451971
Option 2 ID : 6306801451974
Option 3 ID : 6306801451972
Option 4 ID : 6306801451973
Status : Answered
Chosen Option : 4
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Q.19 if the radius of a circle is equal to a diagonal of a square whose area is 18 cm? , then
the area of the circle is what?

Ans X1 61 em?
X 2 41t cm?
X 3. 81w cm?

" 4. 91 cm?

Question ID : 630680372685

Option 11D : 6306801452027
Option 2 ID : 6306801452030
Option 3 ID : 6306801452028
Option 4 ID : 6306801452029

. Not Attempted and
" Marked For Review

Chosen Option : ==

Status

Q.20 If the cost of 4 apples and 7 oranges is same as the cost of 6 apples and 4 oranges,
then what is the ratio of the price of an orange and the price of an apple?

Ans X 1.4:1
&2.2:3
X 3.3:2
X 4.2:5

Question ID : 630680372677
Option 1 ID : 6306801451998
Option 2 ID : 6306801451995
Option 3 ID : 6306801451996
Option 4 ID : 6306801451997
Status : Answered
Chosen Option : 2

Q.21  The number of revolutions of wheel, where a wheel diameter is 70 em in rravelling a distance of 242 m

Ans X 1. 120
X2.105
« 3 110
X 4100

Question ID : 630680372680
Option 1 ID : 6306801452007
Option 2 ID : 6306801452010
Option 3 ID : 6306801452008
Option 4 ID : 6306801452009
Status : Answered
Chosen Option : 3
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Ans

Q22 ywhat is the value of tan79%cot11°.

X110

X2 .
3

v31

X4.1J§

Question ID : 630680372686
Option 1 ID : 6306801452034
Option 2 ID : 6306801452032
Option 3 ID : 6306801452033
Option 4 ID : 6306801452031
Status : Answered
Chosen Option : 3
Q.23 Ifa:b:c=4:3:4,then what is the value of (a/8) : (b/3) : (c/12)?
Ans X 1.3:2:4
o 2.3:6:2
X 3.3:6:4
X 4.5:4:3
Question ID : 630680372676
Option 1 ID : 6306801451994
Option 2 ID : 6306801451991
Option 3 ID : 6306801451993
Option 4 ID : 6306801451992
Status : Answered
Chosen Option : 2
Q.24 T1f the area of a circle and a square are equal, then what is the ratio of their perimeter?
Ans X1 qr:2
2 w2
X3 2:m
X4 2:4m
Question ID : 630680372684
Option 1 ID : 6306801452026
Option 2 ID : 6306801452023
Option 3 ID : 6306801452025
Option 4 ID : 6306801452024
Status : Answered
Chosen Option : 2
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Q25 How many 2 digits number are divisible by 67
Ans X1 14

X2 17

X3 16

4 15

Question ID : 630680372664
Option 1 ID : 6306801451943
Option 2 ID : 6306801451945
Option 3 ID : 6306801451946
Option 4 ID : 6306801451944
Status : Answered
Chosen Option : 4

Section : English Language (Basic Knowledge)

Q.1 Early this morning, | was in my car preparing to drive my children to school. Just as |
was about to turn of the parking lot, my daughter, who was seating next to me,
screamed.

Ans o 1. out
X 2.1n
X 3.At
& 4.up

Question ID : 630680372599
Option 1 ID : 6306801451685
Option 2 ID : 6306801451684
Option 3 ID : 6306801451683
Option 4 ID : 6306801451686
Status : Answered
Chosen Option : 1

Q.2 Choose the most appropriate one-word substitution for “a person who collects coins”
Ans X 1. Demonstrator

" 2. Numismatist
& 3. Collector
& 4. Bibliophile

Question ID : 630680372593
Option 1 ID : 6306801451662
Option 2 ID : 6306801451659
Option 3 ID : 6306801451660
Option 4 ID : 6306801451661
Status : Answered
Chosen Option : 2
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Q.3 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

The 20th century has been marked by remarkable scientific progress, revolutionizing
the way we transport ourselves and communicate with each other. While the
Renaissance gave us an intellectual revolution and the 18th century an industrial
revolution, the 20th century has been defined by scientific advancements.

A) Additionally, the invention of the jet engine by Sir Frank Whittle has revolutionized
air travel, allowing planes to travel at incredible speeds and heights.

B) In conclusion, the scientific revolution of the 20th century has brought about
incredible advancements in transport and communication. From rocketry and jet
engines to radio-telephones and television, these technologies have transformed the
way we live and interact with each other.

C) From rocketry and nuclear power to the jet engine and satellite communication, the
progress of the past century has been truly transformative.

D) When it comes to transport, perhaps the most significant development has been in
rocketry. The United States and the USSR have both achieved the incredible feat of
putting humans into orbit and launching scientific satellites that can send data back to
Earth.

Ans X 1.ABCD
X 2.CBAD
< 3.DACB
o 4. CDAB

Question ID : 630680372597
Option 1 ID : 6306801451675
Option 2 ID : 6306801451678
Option 3 ID : 6306801451677
Option 4 ID : 6306801451676
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Not only is my brother intelligent though hard working too.

Ans X 1.So hard working
#< 2. Or hard working
< 3. Yet hard working

" 4. But hard working

Question ID : 630680372594
Option 1 ID : 6306801451664
Option 2 ID : 6306801451663
Option 3 ID : 6306801451665
Option 4 ID : 6306801451666
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate option to complete the following sentence:
I’'ll do the shopping when I've cleaning the flat.

Ans X 1.finishes
" 2. finished
< 3. To finish
X 4. finish

Question ID : 630680372603
Option 1 ID : 6306801451702
Option 2 ID : 6306801451701
Option 3 ID : 6306801451699
Option 4 ID : 6306801451700
Status : Answered
Chosen Option : 2
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Q.6 Choose the correct answer from below options that suits the below mentioned
question:
They tried to the painting

Ans o 1.steal
X 2. stele
X 3. still
< 4. steel

Question ID : 630680372612
Option 1 ID : 6306801451738
Option 2 ID : 6306801451736
Option 3 ID : 6306801451737
Option 4 ID : 6306801451735
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Rita changed her job if she would have been promoted.
Ans X 1. Should never have

< 2. should
#< 3. Shall never have

" 4. Would never have

Question ID : 630680372595
Option 1 ID : 6306801451667
Option 2 ID : 6306801451670
Option 3 ID : 6306801451669
Option 4 ID : 6306801451668
Status : Answered
Chosen Option : 4

Q.8 Suddenly, his car jerked to a stop. Due to the close proximity to the car the

other driver was unable to step on his brake in time.
Ans X 1.after

& 2. might
" 3. behind

< 4. under

Question ID : 630680372598
Option 1 ID : 6306801451682
Option 2 ID : 6306801451680
Option 3 ID : 6306801451681
Option 4 ID : 6306801451679
Status : Answered
Chosen Option : 3
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Q.9 Choose the most appropriate meaning of the below quoted idiom:
“Bigger fish to fry”

Ans X 1. Not repeating same mistakes
¥ 2. More important things to do
25 3. Not wanting to do important things

5 4. Doing a lot of unplanned things

Question ID : 630680372605
Option 1 ID : 6306801451708
Option 2 ID : 6306801451709
Option 3 ID : 6306801451710
Option 4 ID : 6306801451707
Status : Answered
Chosen Option : 2

Q.10 There is inherent darkness in this world; it simply lacks light.
Ans X 1.one

" 2.no
X 3.0n
X 4. at

Question ID : 630680372601
Option 1 ID : 6306801451692
Option 2 ID : 6306801451694
Option 3 ID : 6306801451691
Option 4 ID : 6306801451693
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate option to complete the following sentence:
Rose is upset about losing her job.

Ans X 1.lonely
& 2. easily
25 3. insecurely

o 4. terribly

Question ID : 630680372602

Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801451697
6306801451698
6306801451695
6306801451696
Answered

4
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Q.12 Parts of the following sentence have been given as option that contains an error in
spelling. If you don’t find any error, mark “No error” as your answer.
The affordabiliity of hand phones has increased due to the prepaid system. This has
led to a competition among students to own the latest, most expensive hand phones
with the latest features.

Ans " 1. affordabiliity
& 2. No error
< 3.0own

5 4. competition

Question ID : 630680372609
Option 1 ID : 6306801451723
Option 2 ID : 6306801451726
Option 3 ID : 6306801451724
Option 4 ID : 6306801451725
Status : Answered
Chosen Option : 1

Q.13 Choose the most appropriate meaning of the below mentioned word:
Negate

Ans X 1.Approve
X 2. Allow
" 3. Cancel out
< 4. Confirm

Question ID : 630680372607
Option 1 ID : 6306801451716
Option 2 ID : 6306801451715
Option 3 ID : 6306801451718
Option 4 ID : 6306801451717
Status : Answered
Chosen Option : 3

Q.14 Choose the correct answer from below options that suits the below mentioned
question:
| didn’t what she said.

Ans X 1.here
X 2. her
«" 3. hear
X 4. ear

Question ID : 630680372611
Option 1 ID : 6306801451731
Option 2 ID : 6306801451732
Option 3 ID : 6306801451733
Option 4 ID : 6306801451734
Status : Answered
Chosen Option : 3
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Q.15 Choose the answer below that spells the word in bold correctly:

The focus on material posessions can also lead to a negative culture of materialism.

Ans X 1.possesions

¥ 2. possessions
5 3. posssessions

& 4. posseesions

Question ID : 630680372610
Option 1 ID : 6306801451729
Option 2 ID : 6306801451728
Option 3 ID : 6306801451727
Option 4 ID : 6306801451730
Status : Answered
Chosen Option : 2
Q.16 Choose the most appropriate meaning of the below quoted idiom:
“Break the ice”
Ans X 1.To make someone uncomfortable
& 2. Unable to communicate with someone
< 3. To be able to multitask
«# 4. To do or say something that will make people feel more comfortable
Question ID : 630680372606
Option 1 ID : 6306801451711
Option 2 ID : 6306801451713
Option 3 ID : 6306801451712
Option 4 ID : 6306801451714
Status : Answered
Chosen Option : 4
Q.17 Choose the most appropriate meaning of the below mentioned word:
Bewildered
Ans X 1.conscious
X 2. alert
< 3. clearheaded
«” 4. Stunned
Question ID : 630680372608
Option 1 ID : 6306801451720
Option 2 ID : 6306801451722
Option 3 ID : 6306801451721
Option 4 ID : 6306801451719
Status : Answered
Chosen Option : 4
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Q.18 Select the most appropriate option to complete the following sentence:

Sarah gave up to find a job in this country and decided to go abroad.
Ans X 1.having
&K 2. Totry
#< 3. doing
o 4. trying
Question ID : 630680372604
Option 1 ID : 6306801451706
Option 2 ID : 6306801451703
Option 3 ID : 6306801451705
Option 4 ID : 6306801451704
Status : Answered
Chosen Option : 4
Q.19 Compassion is not forced; it upon the world like dew from heaven. It brings

happiness not only to the receiver but also to the giver.
Ans X 1.increased

X 2. ascends
" 3. descends
X 4. decreased

Question ID : 630680372600
Option 1 ID : 6306801451689
Option 2 ID : 6306801451688
Option 3 ID : 6306801451687
Option 4 ID : 6306801451690
Status : Answered
Chosen Option : 2

Q.20 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

The saying, "it pays to advertise,” still holds true today. Advertising not only helps to
sell goods and services, but it also creates a demand for new products.

A) Advertising is a vital part of modern society, and its development can be traced
back at least three centuries to the publication of early journals like The London
Gazette, Tatler, and Spectator in England.

B) The competition among big producers in the home computer industry is a prime
example of this.

C) Advertising began on a local basis, and as the factors like mass-production, rail
communication, transport, and printing developed, it expanded to a national and
international level.

D) Advertising is everywhere the public goes: on walls, shop fronts, hoardings, railway
stations, buses, business vehicles, and more.

Ans X 1.CBAD
«" 2. BACD
< 3.ABCD
< 4.DACB

Question ID : 630680372596
Option 1 ID : 6306801451674
Option 2 ID : 6306801451671
Option 3 ID : 6306801451673
Option 4 ID : 6306801451672
Status : Not Answered
Chosen Option : --
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Q.21 Choose the most appropriate one-word substitution for “An inscription on a tomb”
Ans X 1.Legacy

25 2. Obituary
< 3. Script
«” 4. Epitaph

Question ID :
Option 11D :
Option 2 1D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680372592
6306801451656
6306801451655
6306801451658
6306801451657
Answered

4

Comprehension:

Read the following passage and answer the given questions:

From ancient times to the present day, human beings have always craved entertainment.
Whether it be Greek tragedy and comedy in open-air amphitheaters or shadow and puppet
plays in the East, people have always sought out ways to be amused and distracted from
their daily lives. However, the nature of entertainment has evolved over time and has become
a highly organized business in most modern countries, offering an overwhelming variety of
options to satisfy every possible taste.

Unlike activities such as indoor games or amateur theatricals, entertainment implies non-
participation by the audience. From cabaret to ballet, from radio and television to the opera
and the circus, from the cinema to the variety show, and from the comedian to the symphony
concert, modern entertainment provides a wide array of choices that appeal to people of all
ages and backgrounds. In multicultural cities like Singapore, traditional performances from
different races add to the diverse mix of entertainment offerings.

The glamour and glitter of the entertainment industry are especially attractive to young
people. The famous "pop" stars of today become idols for adolescents who emulate their
fashion sense and dream of achieving fame and fortune themselves. However, only a small
minority of talented hopefuls succeed in breaking into the world of entertainment. Even for
those who do, the real challenge lies in staying relevant and innovative. Television is a
voracious consumer of scripts, and comedians cannot afford to repeat the same jokes twice.
Achieving long-term success in entertainment demands rigorous training and consistent hard
work, whether in a drama or ballet school, a music academy, or as part of a professional
script-writing team.

In conclusion, the world of entertainment has an enduring appeal that transcends time and
culture. From ancient Greek amphitheaters to modern-day cinema and television, people
have always sought out ways to be entertained. While the industry has become more
complex and competitive, it still provides opportunities for talented individuals to showcase
their skills and achieve success. Despite the hardships and challenges that come with the
profession, the world of entertainment remains an irresistible force that continues to captivate
and inspire audiences around the world.

SubQuestion No : 22
Q.22 Identify the central theme of the passage

Ans X 1.In multicultural cities like Singapore, traditional performances from different races add
to the diverse mix of entertainment offerings.

" 2. The world of entertainment has an enduring appeal that transcends time and culture.
From ancient Greek amphitheaters to modern-day cinema and television, people have
always sought out ways to be entertained.

#< 3. the real challenge in the world of entertainment lies in staying relevant and innovative.

& 4. The famous "pop" stars of today become idols for adolescents who emulate their
fashion sense and dream of achieving fame and fortune themselves.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680372588
6306801451639
6306801451642
6306801451641
6306801451640
Answered

2
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Comprehension:

Read the following passage and answer the given questions:

From ancient times to the present day, human beings have always craved entertainment.
Whether it be Greek tragedy and comedy in open-air amphitheaters or shadow and puppet
plays in the East, people have always sought out ways to be amused and distracted from
their daily lives. However, the nature of entertainment has evolved over time and has become
a highly organized business in most modern countries, offering an overwhelming variety of
options to satisfy every possible taste.

Unlike activities such as indoor games or amateur theatricals, entertainment implies non-
participation by the audience. From cabaret to ballet, from radio and television to the opera
and the circus, from the cinema to the variety show, and from the comedian to the symphony
concert, modern entertainment provides a wide array of choices that appeal to people of all
ages and backgrounds. In multicultural cities like Singapore, traditional performances from
different races add to the diverse mix of entertainment offerings.

The glamour and glitter of the entertainment industry are especially attractive to young
people. The famous "pop" stars of today become idols for adolescents who emulate their
fashion sense and dream of achieving fame and fortune themselves. However, only a small
minority of talented hopefuls succeed in breaking into the world of entertainment. Even for
those who do, the real challenge lies in staying relevant and innovative. Television is a
voracious consumer of scripts, and comedians cannot afford to repeat the same jokes twice.
Achieving long-term success in entertainment demands rigorous training and consistent hard
work, whether in a drama or ballet school, a music academy, or as part of a professional
script-writing team.

In conclusion, the world of entertainment has an enduring appeal that transcends time and
culture. From ancient Greek amphitheaters to modern-day cinema and television, people
have always sought out ways to be entertained. While the industry has become more
complex and competitive, it still provides opportunities for talented individuals to showcase
their skills and achieve success. Despite the hardships and challenges that come with the
profession, the world of entertainment remains an irresistible force that continues to captivate
and inspire audiences around the world.

SubQuestion No : 23
Q.23 Identify the suitable title for the passage
Ans X 1.Glamour and Glitter of the entertainment industry

#< 2. Entertainment Then and Now
«# 3. The Enduring Allure and Challenges of the World of Entertainment

75 4. Greek amphitheaters to modern-day cinema and television

Question ID : 630680372589
Option 1 1D : 6306801451646
Option 2 ID : 6306801451643
Option 3 ID : 6306801451644
Option 4 ID : 6306801451645
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following passage and answer the given questions:

From ancient times to the present day, human beings have always craved entertainment.
Whether it be Greek tragedy and comedy in open-air amphitheaters or shadow and puppet
plays in the East, people have always sought out ways to be amused and distracted from
their daily lives. However, the nature of entertainment has evolved over time and has become
a highly organized business in most modern countries, offering an overwhelming variety of
options to satisfy every possible taste.

Unlike activities such as indoor games or amateur theatricals, entertainment implies non-
participation by the audience. From cabaret to ballet, from radio and television to the opera
and the circus, from the cinema to the variety show, and from the comedian to the symphony
concert, modern entertainment provides a wide array of choices that appeal to people of all
ages and backgrounds. In multicultural cities like Singapore, traditional performances from
different races add to the diverse mix of entertainment offerings.

The glamour and glitter of the entertainment industry are especially attractive to young
people. The famous "pop" stars of today become idols for adolescents who emulate their
fashion sense and dream of achieving fame and fortune themselves. However, only a small
minority of talented hopefuls succeed in breaking into the world of entertainment. Even for
those who do, the real challenge lies in staying relevant and innovative. Television is a
voracious consumer of scripts, and comedians cannot afford to repeat the same jokes twice.
Achieving long-term success in entertainment demands rigorous training and consistent hard
work, whether in a drama or ballet school, a music academy, or as part of a professional
script-writing team.

In conclusion, the world of entertainment has an enduring appeal that transcends time and
culture. From ancient Greek amphitheaters to modern-day cinema and television, people
have always sought out ways to be entertained. While the industry has become more
complex and competitive, it still provides opportunities for talented individuals to showcase
their skills and achieve success. Despite the hardships and challenges that come with the
profession, the world of entertainment remains an irresistible force that continues to captivate
and inspire audiences around the world.

SubQuestion No : 24
Q.24 What is the meaning of “amateur”?
Ans X 1.Expert

«¥ 2. Inexperienced
25 3. Experienced
& 4. Professional

Question ID : 630680372590
Option 1 1D : 6306801451648
Option 2 ID : 6306801451649
Option 3 ID : 6306801451647
Option 4 1D : 6306801451650
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following passage and answer the given questions:

From ancient times to the present day, human beings have always craved entertainment.
Whether it be Greek tragedy and comedy in open-air amphitheaters or shadow and puppet
plays in the East, people have always sought out ways to be amused and distracted from
their daily lives. However, the nature of entertainment has evolved over time and has become
a highly organized business in most modern countries, offering an overwhelming variety of
options to satisfy every possible taste.

Unlike activities such as indoor games or amateur theatricals, entertainment implies non-
participation by the audience. From cabaret to ballet, from radio and television to the opera
and the circus, from the cinema to the variety show, and from the comedian to the symphony
concert, modern entertainment provides a wide array of choices that appeal to people of all
ages and backgrounds. In multicultural cities like Singapore, traditional performances from
different races add to the diverse mix of entertainment offerings.

The glamour and glitter of the entertainment industry are especially attractive to young
people. The famous "pop" stars of today become idols for adolescents who emulate their
fashion sense and dream of achieving fame and fortune themselves. However, only a small
minority of talented hopefuls succeed in breaking into the world of entertainment. Even for
those who do, the real challenge lies in staying relevant and innovative. Television is a
voracious consumer of scripts, and comedians cannot afford to repeat the same jokes twice.
Achieving long-term success in entertainment demands rigorous training and consistent hard
work, whether in a drama or ballet school, a music academy, or as part of a professional
script-writing team.

In conclusion, the world of entertainment has an enduring appeal that transcends time and
culture. From ancient Greek amphitheaters to modern-day cinema and television, people
have always sought out ways to be entertained. While the industry has become more
complex and competitive, it still provides opportunities for talented individuals to showcase
their skills and achieve success. Despite the hardships and challenges that come with the
profession, the world of entertainment remains an irresistible force that continues to captivate
and inspire audiences around the world.

SubQuestion No : 25
Q.25 ldentify the inferences drawn from the passage

Ans o 1. Despite the hardships and challenges that come with the profession, the world of
entertainment remains an irresistible force that continues to captivate and inspire audiences
around the world.

5 2. Achieving long-term success in entertainment does not demand very rigorous training
and is achievable whether in a drama or ballet school, a music academy, or as part of a
professional script-writing team

< 3. Television is a voracious consumer of scripts, and comedians cannot afford to repeat
the same jokes twice.

& 4. The glamour and glitter of the entertainment industry are especially attractive to
young people.

Question ID : 630680372591
Option 11D : 6306801451653
Option 2 1D : 6306801451652
Option 3 ID : 6306801451651
Option 4 ID : 6306801451654
Status : Answered
Chosen Option : 1
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